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The amplitude is only 1/3 of the amplitude of the direct arrival 
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Dipping structure greatly enhances the transmission. Similarly, the R12 

reflection can be found to be greater. This type of structure traps energy ! 
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Alternatively, the solution for the ray can be found by rotating the 

reference system, as shown in the figures bellow: 
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For θ = 5o,  Zs = 8 km,  β1 = 2 ,  β2 = 3.5 
 
X = 10   →  i’ = 48.02o   →  i = 53.02o  →  X’ = 9.26 km 
 
X = 40   →  i’ = 77.78o   →  i = 82.78o  →  X’ = 39.15 km 
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